Emma Stage 6

Answer Key

A) TRUE OR FALSE
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10.

Emma lived at Hartfield with her grandmother.
Emma was a common young lady without particular talents.
Emma and her father were very distressed because of Miss Taylor’s marriage.

Harriet was extremely pleased with her acquaintance with Emma.

Mr Knightley did not like the Woodhouses and tried to avoid them when possible.

Emma persuaded Harriet not to marry Mr Martin because he was ugly and selfish.

Emma introduced Harriet to a good society and encouraged her sympathy
for Mr Elton.

Mr Elton married Mrs Hawkins two years after their acquaintance.
Frank Churchill was Mr Weston’s nephew who lived at Randalls.

Emma discovered that all the matches she had made were absolutely wrong
and opposite.

B) CHOOSE THE CORRECT ANSWER

1.

&

Where does Emma live?

A) Donwell Abbey B) Randalls

C) London @ Hartfield

Whose wedding has just taken place at the beginning of the novel?
@ The Westons’ B) The Eltons’

C) The Martins’ D) The Knightleys’

Who became Emmass friend after a usual tea party?

A) Jane Fairfax B) Mrs Hawkins
@ Harriet D) Mrs Bates

Why did Emma promise herself never to marry anyone?

A) Because she wanted to be independent.
Because she did not want to leave her old father.

C) Because she wanted to arrange her own prospects.
D) Because she wanted to work and earn her own living.

What was Emma’s favourite occupation?

A) Drawing B) Singing
C) Reading @ Match-making
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6.

Who often judge Emma for her interference in the personal affairs of others?

A) Mr Woodhouse Mr Knightley

C) Harriet D) Frank Churchill

Who is Frank Churchill?

@ The son of Mr Weston by his first wife. B) The nephew of Mr Woodhouse.
C) Emma’s cousin. D) The son of Colonel Campbell.
Who was in love with Harriet during the entire novel?

A) Mr Knightely B) Mr Elton

C) Frank Churchill @ Robert Martin

What did Emma discover about herself at the end of the story?

A) that she was poor after her father had gone bankrupt

B) that she wanted to move abroad and live there all her life

@ that she was in love with Mr Knightley all the time

D) that she was unfit for a high society

10. Who loved Emma sincerely and propose her to marry him?

A) Mr Elton B) Frank Churchill

@ Mr Knightley D) Mr Weston

C) ANSWER THE QUESTIONS

1

What were Emma’s personality traits?

She always acted in her own way and thought rather too well of herself.

Who is Mr Knightley? How does the relationship between Mr Knightley and Emma change
throughout the course of the novel?

He was Isebella’s husband’s brother and a close friend of Emma’s father. At first Emma and Mr
Knightley were friends, then at the end of the story they got married.

Why was Harriet’s friendship with Emma favourable and profitable?
Because Emma belonged to a rich society and she introduced Harriet to the society.

How did Emma affect on Harriet’s decisions and views?

She gave her encouragement and she tried to educate her, to improve her speech and knowledge,
to introduce her to a higher society and didn’t want her to marry a common person.

What made Emma believe that Mr Elton was in love with Harriet? Was Emma right in her
speculation?

His praise about Harriet, writing a charade and his offer to get her painting framed made her
believe that he was in love with Harriet.

In what ways did Emma try to draw Mr Elton’s attention to Harriet?
She always talked about Harriet’s beauty and good manners when he met him.
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1.

12.

13.

14,

15.

16.

17.

18.

19.

20.

What were the reasons for Mrs Elton to make a proposal of marriage to Emma? Did Emma accept
his proposal?

Emma was the most beautiful and well educated woman in Hartfield and he wanted an equal
marriage. No, she didn’t accept his proposal.

Why did Mr Elton marry Mrs Hawkins?

Because he was rejected by Emma, and Mrs Hawkins was a rich woman.

What were Mrs Hawkin’s character traits? Did Emma like her?

According to Emma she was selfish, ignorant, arrogant, and presuming. She was not smart,

but she thought herself coming with superior knowledge of the world to improve a country
neighbourhood. No, she didn’t. She found her unbearable.

Who was Jane Fairfax? What kind of talents did she have?

Jane Fairfax was Mrs Bates granddaughter. She was well educated and very good at playing the
piano.

Why did Emma not like Jane Fairfax? Did she change her opinion of Jane throughout the course of
the novel?

Because Jane was a beautiful young woman and she saw in her a better woman than herself.

Who was Frank Churchill? What did Emma think about him?

Frank Churchill was Mr Weston’s son from his first wife. Emma thought that he was a young,
handsome, and clever men and a treasure at Highbury. She liked him.

What were Emma’s observations during the ball in the Crown Inn?

Her observations were as follows: Harriet’s sadness was over and she was happy again, Frank
Churchill was not in love with her and Mr Knightley had the same opinions about the Eltons and
did not quarrel with her.

Why did Mr Knightley not like Frank Churchill? What were his suspicions about him?

Because he suspected him of playing a double game. He noticed that Frank did his best to impress
Emma with his gentleman like behaviour and compliments. On the other hand, he flirted with Jane
Fairfax quite often. He was entirely convinced of some secret sympathy between Frank Churchill
and Jane Fairfax.

Who rescued Harriet from the poor children and how?

Frank Churchill rescued Harriet from the poor children. When he was passing Harriot by in
his carriage. He saw her among the wild children. He ran up to her and rescued her from them
bravely.

What kind of secret did Frank Churchill try to hide from everybody?

He tried to hide his engagement with Jane Fairfax.

What kind of situation did Jane Fairfax find in another city? Where was she going to work?

She found a governess position in Mrs Smallridge’s house.

Who made a proposal of marriage to Emma at the end of the novel? Did she accept the proposal?
Mr Knightley made a proposal of marriage to Emma. Yes, she accepted his proposal.

Did Emma want to make the matches again? Why?

No, she didn’t. Because she found out that she was wrong in her match-makings.

How did the novel end?

Frank Churchill married Jane Fairfax, Harriet married Robert Martin and Emma married Mr
Knightley and they lived in perfect happiness and harmony for the rest of their lives.
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